
1) (-637) - 914

Answer: ____________

2) Decrease 185 by 1/37

Answer: ____________

3) Decrease 66 by 1/33

Answer: ____________

4) Decrease 202 by 2/101

Answer: ____________

5) Decrease 96 by 1/12

Answer: ____________

6) Decrease 63 by 2/21

Answer: ____________

7) Decrease 28 by 5/14

Answer: ____________

8) 916 - (-314)

Answer: ____________

9) (-700) - (-722)

Answer: ____________

10) Decrease 284 by 1/71

Answer: ____________

11) Decrease 156 by 1/52

Answer: ____________

12) Decrease 284 by 2/71

Answer: ____________

13) (-783) - (-650)

Answer: ____________

14) Decrease 282 by 4/141

Answer: ____________

15) Decrease 82 by 4/41

Answer: ____________
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16) (-672) - 554

Answer: ____________

17) 341 - (-319)

Answer: ____________

18) Decrease 24 by 1/4

Answer: ____________

19) 406 - (-703)

Answer: ____________

20) 137 - (-807)

Answer: ____________

Total: ___ / 20
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Answers:

1) -1551 2) 180 3) 64 4) 198 5) 88 6) 57 7) 18

8) 1230 9) 22 10) 280 11) 153 12) 276 13) -133 14) 274

15) 74 16) -1226 17) 660 18) 18 19) 1109 20) 944
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